
Solution to ECE Test #2 S05
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Explain your answer.  There are two poles, both in the open left half-plane.

3. Find the Laplace transform X s( )  of x cos u ut t t t( ) = ( ) ( ) ∗ ( )20π .  Then find the

inverse transform of X s( )  and express it in the form y ut t( ) ( )  without using the

convolution operator, ∗ .  What is the function, y t( ) ?
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Solution to ECE Test #2 S05 #1

1. Given the Laplace-transform pair 
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g t( )  is continuous at t = 0 , complete the following Laplace-transform pairs.
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Explain your answer.  There are two poles, both in the right half-plane.

3. Find the Laplace transform X s( )  of x cos u ut t t t( ) = ( ) ( ) ∗ ( )50π .  Then find the

inverse transform of X s( )  and express it in the form y ut t( ) ( )  without using the

convolution operator, ∗ .  What is the function, y t( ) ?
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